Static Electricity

Friday, May 12, 2017 8:19 AM

4/»0& are 3 "’\//’ts o‘P cj\afﬁt - p()s;h\& + ,V\e—?o&w( -

Oppl)xi"'c C}un A,H/ac;lt I like da/qu f‘ﬁej | C/Aa/720‘ and neuvtrd a,'l‘//ad

+/ - +/f _/-

A/1‘vm - electnns - = ‘?.wa'ykc]) neﬁdn/{ c’ﬁa/?(
- P/“’MS - /'HXIOJ}K'I , Ppositive Cjtﬂ"?‘
— nevtron * m- l.z%-x/a’l}/% , nectnl

- Al etedric C,Aa/?z_s are  a /‘cgu/fd/ar\ excess  of ofeficit y
-6/{57[f0n>‘ (?al‘/\{ol or lost &/Lc,-/ram>

Conducdor' electrons cam pove ff&/»/ s Cepper siver ?e/o!
Insulador * electing Hnt move eaSI/y’ I vbber wsosd

~ Mi”n’kdv\ Ais covered W "H—L QA&I%L on an e/ec;/fzn isS:

e = \(g Xquq C elem(/tﬂl'cu?/
Y ovlomb (4 vnit of charg) | Helge
this 1> olss Ha charye on 2 oo hn

7}'\{ J’OW C,Aﬂfﬁe, oNn oan 060‘(,(:,% S Q=—‘ ne_

7] rn X

]
Uil # of exha/
chuge Jos? electrms
\/ ’ \>Q:§Q (PO&#"J() = ~
Q=se
C y\eawlivt)

Q:=ne

Electricity Page 1



X * Calevlde +HAe Qkaro]L on o Styrofvan Cup Hel has

1O
Sxto'” excess electrons.

Q= (sx0")(Lextoe) = 8.oxi " C

{)( . How-q VY\—oi/l\/ ,Q//(c;/fa/\s have ‘3.2,8/\ "‘f@l’l&’ff//(d (S an oéd‘ey//\as a
positive charge of F.5xi0™c
Q= ne

_]Q
2 SwrC=n QLGxto C > V\,—L/(,?x/olse/éc{,ms-
x0T b xtote

Electricity Page 2



